The Barents Sea ecosystem dynamics as
coupled oscillators to long tides
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Why flower-power?

Power = Force x Time

There is much power
in small forces,

when integrated,
over a long time,

in the same direction
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Power spectrum of long tides

Effekt
spektrum Tides, have a force in the same direction,
A

Long tides have more power,
Because of longer force period
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Nature as coupled
oscillators

Gravity Barents Sea Barents Sea
forced tides  Temperature Eco system

Christian Huygens
(1629 - 1695)
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Plankton biomass oscillation
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Tide and Plankton oscillates
in opposite phase 6
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Biomass feedback dynamics

Tide Recruitment
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Barents Sea capelin biomass
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Barents
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Sea capelin recruitment
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North Arctic cod (3 yr)
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Herring recruitmen (1yr)
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North Arctic cod oscillation
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Er der en syklus I torskebestanden?

Norsk Artisk torsk
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En vil da alltid tjene penger om en satser i oppgangstider
En vil alltid tape penger om en satser i nedgangstider

Er det en stasjonaer periode, kan vi si noe om framtiden

Er det en tilfeldig periode, kan vi bare forklare fortiden 3
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Hvorfor sykliske perioder i gkosystemet?
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